| Time: Max Marks: 50
022 {9:30-11:00 am ' |

An.swcr any 2 full questions, choosing one full question from each paﬂ. "o

| [9(0.5)=2.6360, y(1.0)=3.5950, y(1.5)= 4.9680

- : dy 1 .
v(2.0) given £y=5(x+y) with  y(0)=2,

| Questions Marks[RBT| CO's|
e PART A | T
a Jsing Taylor's series Method, find ine solution atf 8 |L2|CO4
 ——=X—Y", =1 g
Ji =0.1 of o ) y(0) considering upto fnu:th[
gree term
: b_ lve Ey=x+|\/yl,y(0]=latx=0.4 by taking 8 |L2|CO4
| |h=0.2 using Modified Euler's Method, carry out two
iterations in each step.
| |c|Apply Milne's Predictor corrector formula to compute 9 |L2|CO4

i OR
1alUse Modified Euler's Method to compute y(0.1), given| 8
fthat  Z==x"+y,(0)=1 by taking h=0.05.Perform

~ [two approximations in each step.

Runge Kutta Method of fourth order to solve
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]dx can be éitﬁ:nﬂsad with y(0)=0,,
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ly Milne's Predictor Corrector Method to compute
Py i3
1 +% at y(0.4) with the initial values in table.

il

0 0.1 0.2 0.3
1 1.1103 1.2427 |1.3990
1 1.2103 1.4427  |1.6990
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;E.lProve that geodesics of a plane surface are straight lines.
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4laFind the extremal of the functional
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COs |

biGiven y"-xy'-y=0 with the initial conditions y(0)=1 and
_ ¥(0)=0. Compute y(0.2) using Runge Kutta Method.
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Derive  Euler's equation in the standard fi
&L 57 .d[BL]=O S
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